AFROBRUNERICDULT

ME K=
::F%% u.QrE

FUIC

2L v —
R 0 EZ 3
BERUNERENEC DAPT L)

123456 BXR



TrahairDEEJE AT\
T A (Rl U AU

14EI;]GJ t2FI,
a2 395+352\/ )

EE

o GJr2
2
Pert” v smomsiieds

VELGJ MEEES
{ (cm) EER{E Trahair
e 30 ‘ 3.1 | 4.2
Ja O _ 50 *3.7 J4.1

=2 | N

i franair Ij> INE S (DEER
4.2 i { (cm) EER1E Trahair
- 300 3.4 | 4.43
Y | 350 1 851 4.36
2468 100450 ¥3.96V 4.27

X

12341565/9(



2A S

LEER

r TrahairMEEJE AT (RRERR)

REXDERREAM AN (BaED)
* FEM {

4148%?@%?%/1*?& AT

Y (CalculiX)

[ LI

i Y "= 100 //

g L S ?é Y T

E I%F]—rm ) // \

g - LS nt /f/'" |

g - Y 7

| - | pa ] z — 2“ ;J;

{ =2 ~ 10m b = ’

Hem / 4

]
Y "ES 2 45 6 @R



FRATIG SR

= = N\ — /3 === or sy —
SR DIERQ U NEE[ERE & Rt
— - = 40T > —
A% g fa] 2 R IoiE
16 4.6 B ﬁ{%%%\f:a]cunk |
E i TARER CalpnliX e— ™ -
12 F j:_]'l"t"r}]mir - = Q, (5@4_2 B
~ l PR HENT = = - - S|~ = B 25 37 W .
S i hm_i{f}}iﬁﬁ‘l’; =, B '\hm S Trahair |
R ol :.J_ 3.8 J (i
- Fik A i ;x 3
4t 34 S
: S-S N LY P
{:' 1 1 1 1 1 1 1 1 1 1
2 4 6 5 1() 2 4 6 8 10
£(m) £(m)

IAEREGNT - - R<EBIEFEE
(CalcuhX) Q

\

ORITTUTZER

AMDEREORED | ?

123456 BXR



#l+4 D rmta U NEEfE T B D H#ER Tk

FAMEMBDOMM CIEEDED?
P ewEsEmicsz TR

A

— -H- =0 A1IT —_—
‘é“l:tll1ﬁ..r5; /I:M/Kjt1t
800 T T T T T T T 7 I I 1 I I
E 00 —E\ IIAESR CalculiX S ~
f_d/ 6 i Trahair —_— C\QLJ (5;336
% A7 B AT AT % ~
A 400 : A « _ll_L'fz'Sg% CalculiX
200 | ST Trahair BN
| —— T
‘—‘_\_‘_‘_‘_‘—‘_‘_'_‘—‘—‘_
0 I I 1 I ! 1 I 4 | i t X " ) |
2 4 6 8 10 2 4 6 8 10
£(m) £(m)

8

1 CERUKLSHRENRE SN S
123456 BX




L EO

Ql

e EWit. AHE55E
BIRZE AR \
. Tt LT B

~Trahair

< UHER | gpmsmmic s K

1IN X % =@
) K /4(m)

UABRRBNTONEDS EERDNESER
(@if Y — LOBENEEE ORI 557 |

NARERBHONELVEBDONIER
E RN ERE ]

i o

P, 02
VEI,GJ
-

123456 BXR



R

1. 3U®MIC

2. Trahair& EE&

3. BENT S

AMBOBRQUNERECDWLT
H T2
THE B

(FL#IC
i
S ZL Y —
SBM = [ gX R Tmn

. B

ChERESEI DPIL

123456 Bk

TrahairMEREA

S T Al B UNEIE

e —
I’H-:<3.na+s 2\/ Bl )

GJez
Perl’ oyt <
VELGS ME=OE T
{ (crm)| RER{E [Trahair
30 3.1 4.2

50 3.7 4.1

x N
e
£ (cm)| EBRAE [Trabair|

Trahair

42
| 300 3 443
4 350 || 3.85/] 4.36
2 4 6 s 450 |¥ 3.06¥ 4.27

P, 0
1723456 BR

s {TrahairG)EEE.’b\ﬁ (f28a=)

NG5 ORE T REZDHRERT (85
FEM {
BB EERYT

l (Calculix)

R
£ =2~ 10m

b
5em

123456 BR

4.3

-

LR T/ (SRR A)

5.8 R b (8 #7)

-

6.2 L\CI(C

EE R AT

it
_16 L6 \;ng“ﬁﬁ\c—dﬂﬁ_,//i
& "':E*-l R —
= o] mu I b
: ol valiais
= 33 JM
34 & 3
y = ok
Ny
4 3 § 10 2 4 6 8 10
£(m) £(m)

IFBEREN - - R LIFERRTEX
(CalculiX) -
AHMDEAMOHEN | ?

123 456 BR

M T U NE R E ORIt
FHEEHEOBHTEE 55?7

I anresemmczzomm
EEfERrE FxRTE
300 7 T
Z 600 fi LHER Callx ——
I \ nmm
o 400
200 ™

4 6 8 10
£{m)

FHTERULSHERENRSNS
123456 BX

i%@iﬁ;““’ SR, BHES5E
*Qggﬂ ;}ﬁ MRTIEL 2
AN a— RS =X
2i K £(m)

URBEERBHNEZSERBDNIER
(i —LomEnsEzOBEr® 57
MFBEEBIFNELVEBDNIER
[Emiacsrsmnesnr

R
EBELTRAI B HE

123456 BR

8 9




/ Trahair D EEfE N =

VEL,GJ BT, | )
P,y = 3.95 + 3.52

2 G J?
ZDRUDEH HRUDEHK
(bt bt b : 18

\IU_JT 3 J:T t BT /

123456 BXR




/ SR DB EEX
Ezz=10.78GPa , EXXZEyy:O.43GPa
ny:ze:Gyz:O.8GPa

V XYy =— Y XY= V YX=— V yz:0.01 6 , VYzx=V zy:O.4

\_

J

~ EA1 D R E ZK
7> 0F E=210GPa

T ARTEMEREL G=80.77GPa
MNP Y =0.3

~

J

123456 BXR



